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The ﬁgures in the margin mdzcate ﬁJ.ll marks :
for the questions

Answer either in English or in Assamese
' '1. Answer the following questions : 1><10¥i0
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‘(@) In which year was WTO. established?
@R 57 WTO Afedt ¢2feet 2 |
(b) What is FCI?
FCI 7
(c) Write one objective of NABARD.
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Answer the following questions : 2x5=10
oo enpTes e
() What is regional variation in
agricu!ture?
e ol b &

() Write two features of new industrial

policy of 1991.
NS Wﬂ%ﬂ@mﬁ?ﬁ’r@?@!mml

() Mention two causes of backwardness of
Indian agriculture.’
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(d) What is ‘Aatmanirbhar Bharat?
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(e)' Write two gains for India as a founder
member of WTO.
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(e) Explain the problem of low produétivity
in agnculture in India: -

WW%&WWWWl

() Describe the present state of agriculture
market in Ind1a

4. AnSi:’ver the following questions :
oo 2 BT . |

(a) Explain the phases of industrialization
and its growth in India.
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Explain the role of foreign direct
investment in a developing country like

India. . .
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(d) Explain

(7)

the different sources of
agricultural credit in India. What are
the steps taken by the government to
raise credit flow to agriculture?
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objéctives and role of the

Explain the
World Trade Organization.
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